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1. Find the cube root 0f9261
(i) 24 (ii) 444 (iii) 441 (iv) 21 (v) 18

2. Find the cube of30
(i) 26997 (ii) 903 (iii) 27003 (iv) 27000 (v) 900

3. Find the value of123 — 113

(i) 398 (ii) 396 (iii) 400 (iv) 395 (v) 397

4. Find the value of283 + 273

(i) 41636 (ii) 41635 (iii) 41638 (iv) 41634 (v) 41632

5. Which of the following is a perfect cube?
(i) 65 (ii) 999 (iii) 343 (iv) 6 (v) 732

6. Which of the following is not a perfect cube?

(i) 1003 (ii) 8 (iii) 216 (iv) 64 (v) 343

7. The smallest number by which 864 must be multiplied so that the product is a perfect cube is?

(i) 4 (i) 2 (i) 3 (iv) 0 (v) 1

8. The smallest number by which 128 must be divided so that the quotient is a perfect cube is?

(i) 0 (i) 1 (i) 3 (iv) 4 (v) 2
9. Find thecube rootof-125
(i) -4 (ii) -3 (iii) -5 (iv) -8 (v) -6

-27
10. Find thecube rootof( ? )

(i) (ﬁ) (i) (j) (iii) (f) (iv) -3 (v) (é)
4 2 2 2

11. Find the cube root 0f19683
(i) 729 (ii) 732 (iii) 27 (iv) 30 (v) 24

12. Find the cube of20
(i) 8000 (ii) 403 (iii) 400 (iv) 7997 (v) 8003

13. Which of the following is a perfect cube?
(i) 513 (ii) 340 (iii) 7 (iv) 729 (v) 67
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Which of the following is not a perfect cube?

(i) 729 (ii) 8 (iii) 346 (iv) 125 (v)

The smallest number by which 32 must be multiplied so that the product is a perfect cube is?

(i) 0 (ii)

The smallest number by which 8192 must be divided so that the quotient is a perfect cube is?

1

(iii)) 4 (iv) 3 (v) 2

(i) 0 (i) 4 (i) 2 (iv) 3 (v) 1

Find thecube rootof-8
(i) -3

(ii) -4

(iii) -2 (iv) O

(v) -1

Find the cube rootof( )
125

(i)

-1

: )

(i)

5

) (i) () (iv)
5

216
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